
  

NOVEMBER 2021 60522/BYA2C/CYA2A 

Time : Three hours Maximum : 75 marks 

SECTION A — (10  2 = 20 marks) 

Answer any TEN questions. 

1. Name the kinds of branches. 

 QøÍPÎß ÁøPPÒ ö£¯ºPøÍ SÔ¨¤kP. 

2. Brief the term retail profit. 

 ]À»øμ C»õ£® Gß£øu ÂÍUSP. 

3. What do you understand by inter-departmental transfer? 

 xøÓPÐUQøh÷¯¯õÚ ©õØÓ® £ØÔ }º AÔÁx ¯õx? 

4. What is hire purchase agreement? 

 ÁõhøPöPõÒ•uÀ Ehß£iUøP GßÓõÀ GßÚ? 

5. Brief ‘‘repossessed’’ stock. 

 «mP¨£mh \μUS SÔ¨¦ GÊxP. 

6. Write note on stock and debtor system. 

 \μUS ©ØÖ® PhÚõÍº Aø©¨¦ £ØÔ¯ SÔ¨¦ GÊuÄ®. 

7. Write down the essential features of partnership. 

 Tmhø©¨¤ß Sn|»ßPøÍ GÊxP. 

8. Give the journal entry for partner’s salary. 

 TmhõÎ°ß Fv¯zvØUPõÚ SÔ¨÷£mk £vÄ u¸P.  

9. What is insolvency of partner? 

 TmhõÎ ö|õi¢uÁº GßÓõÀ GßÚ? 

10. What do you mean by piecemeal distribution? 

 £SvPÍõP £Qº¢uÎzuÀ £ØÔ }Âº AÔöÁußÚ? 
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11. What is ‘gaining ratio’? 

 Buõ¯ ÂQu® GßÓõÀ GßÚ? 

12. What is realisation account? 

 wºÄ PnUS GßÓõÀ GßÚ? 

SECTION B — (5 × 5 = 25 marks) 

Answer any FIVE questions. 

13. Explain the difference between hire purchase and instalment 
purchase. 

 ÁõhøP öPõÒ•uÀ •øÓ ©ØÖ® uÁøn •øÓ ÷ÁÖ£õkPøÍ  

ÂÁ›. 

14. What are the steps to be taken at the time of death of partner? 

 TmhõÎ CÓ¨¤ß ÷£õx GkUP¨£k® |hÁiUøPPøÍ GÊxP. 

15. From the following particulars ascertain the profit (or ) loss from 
the branch. 

  Rs. 
Opening stock at the branch  45,000 
Goods sent to the branch  1,35,000 
Sales at the branch  1,80,000 
Salaries Rs. 15,000  
Other expenses Rs.   6,000 21,000 

 The branch manager is entitled to a commission of 5% before 
charging such commission, closing stock could not be 
ascertained, but it is known that the branch usually sells at cost 
plus 20%. 

 RÌPõq® ÂÁμ[PøÍU öPõsk QøÍ°ß C»õ£ |mhzøuU 

Psk¤i. 

  ¹. 

QøÍ°ß öuõhUP \μUQ¸¨¦ 45,000 
QøÍ°ß AÝ¨£mh ö£õ¸ÒPÒ 1,35,000 
QøÍ°À ÂØ£øÚ  1,80,000 
  
\®£Í[PÒ ¹.15,000  
©ØÓ ö\»ÄPÒ ¹.  6,000 21,000 

 QøÍ ÷©»õÍ›ß PÈÄz öuõøPø¯ ÷\ºUS®•ß 5% PÈÄz öuõøP 

ö£ÖÁõº. CÖv \μUQ¸¨¦ PnUQhÂÀø» BÚõÀ C¢u QøÍ 

ÁÇUP©õP AhUP ö\»Ähß 20% C»õ£zøu Tmi ÂØ£øÚ 

ö\´²®.   



 60522/BYA2C/CYA2A 
 

3

16. From the following details, prepare departmental trading 
accounts. 

 Department X Department Y 

 Rs. Rs. 

Opening stock 8,400 9,000 

Total purchases 21,600 27,000 

Total sales 36,000 42,000 

Closing stock 4,800 10,800 

Credit purchases 10,600 17,000 

Credit sales 6,000 5,000 

 RÌÁ¸® Â£μ[PøÍU öPõsk xøÓÁõ› Â¯õ£õμ PnUSPøÍ 

u¯õº ö\´P. 

 xøÓ X xøÓ  Y 

 ¹. ¹. 

öuõhUP \μUQ¸¨¦ 8,400 9,000 

ö©õzu öPõÒ•uÀ 21,600 27,000 

ö©õzu ÂØ£øÚ 36,000 42,000 

CÖva \μUQ¸¨¦ 4,800 10,800 

Phß öPõÒ•uÀ 10,600 17,000 

Phß ÂØ£øÚ 6,000 5,000 

17. X purchased machinery under hire purchases agreement from Y. 
The cash price of the machinery was Rs.15,500. The payment 
was to be made as follows : 

 Rs. 

On signing the agreement 3,000 

First year end 5,000 

Second year end 5,000 

Third year end 5,000 

 Calculate interest for each year. 
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 v¸ X  Gß£Áº v¸ Y Gß£Á›h® C¸¢x J¸ C¯¢vμzøu  

öPõÒ•uÀ •øÓ°À Áõ[QÚõº. C¯¢vμzvß öμõUP Âø» 

¹.15,000. R÷Ç öPõkUP¨£mh •øÓ°À ö\¾zvÚõº. 

 Rs. 

J¨£¢u® øPö¯ÊzuõS® ÷£õx 3,000 

¤ÓS •uÀ Bsk •iÂÀ 5,000 

¤ÓS Cμshõ® Bsk •iÂÀ 5,000 

¤ÓS ‰ßÓõ® Bsk •iÂÀ 5,000 

 JÆöÁõ¸ Bsiß Ámi¯ PnUQkP. 

18. Goodwill is valued on the basis of 2 year’s purchase of average 
profits of the preceding three year. The profits of the previous 
three years were  

 2015 : Rs 44,000; 2015 : Rs. 56,000 

 2016 : Rs. 68,000. 

 Calculate :  

 (a) Average profit 

 (b) Value of goodwill. 

 •¢øu¯ ‰ßÖ BskPÎß Ai¨£øh°À Cμsk BskPÎß 

\μõ\› »õ£vß Ai¨£øh°À |ß©v¨¦ ©vUP¨£kQÓx. •¢øu¯ 

‰ßÖ BskPÎß »õ£®. 

 2015 : ¹. 44,000; 2015 : ¹.56,000 

 2016 : ¹. 68,000. 

 \μõ\› C»õ£® ©ØÖ® |ß©v¨¤ß ©v¨¦ PnUQkP. 

19. Tagore and Seenu are partners sharing profit and losses equally 
with capitals of Rs.60,000 and Rs.40,000 respectively. Their 
drawings during the year are as follows : 

 Rs. 
Tagore’s drawings on 31.03.2017 1,000 
30.04.2017 1,200 
01.07.2017 900 
01.12.2017 2,800 

 Seenu drew Rs.400 at the end of each month. The deed provides 
interest on capitals and drawings at 6%.  Calculate interest on 
capital and drawings. 
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 uõT¸®,^Ý® Tmk ÁoP {ÖÁÚ JßÔß £[PõuõºPÍõP EÒÍÚº. 

CÁºPÍx ‰»uÚ® •øÓ÷¯ ¹. 60,000 ©ØÖ® ¹.40,000 BP 

EÒÍx. AÁºPÒ {ÖÁÚzvß C»õ£ |mhzøu  \›\©©õP¨ £[Qmk 

öPõÒQßÓÚº. |h¨¦ BsiÀ CÁºPÍx Gk¨¦ ÂÁμ® 

¤ßÁ¸©õÖ. 

 ¹. 

uõT›ß Gk¨¦ •øÓ÷¯  31.03.2017 1,000 

30.04.2017 1,200 

01.07.2017 900 

01.12.2017 2,800 

 ^Ý JÆöÁõ¸ ©õu CÖv°¾® ¹. 400 GkUQÓõº. Tmk ÁoP® 

£zvμ® ‰»uÚ® ©ØÖ® Gk¨¦ «x •øÓ÷¯ 6% Ámi ÂvUQÓx. 

‰»uÚ® ©ØÖ® Gk¨¦ «uõÚ Ámiø¯U PnUQkP. 

SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

20. Selvam and Co of chennai sends goods  to branch at Salem at 
cost plus 25%. All cash received by branch is remitted to the 
head office. All the expenses are paid from chennai from the 
following particulars show how the branch account will appear 
in the books of head office. 

 Rs. 

Stock on 1.1.2017 (in voice price) 12,500 

Stock on 31.12.2017 (in voice price) 15,000 

Debtors on 1.1.2017 12,000 

Debtors on 31.12.2017 32,500 

Goods invoiced from chennai 60,900 

Remittance to chennai :  

Cash sales 16,000 

Cash received from debtors 29,500 

Goods returned to head office 2,400 

Cheque received from Madras  

Wages and salaries 11,000 

Rent 510 

Sundry expenses 3,000 
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 ö\ÀÁ® & CO  ö\ßøÚ uÚx ÷\»zvß QøÍUS \μUSPøÍ AhUP 

Âø»÷¯õk 25% ÷\ºzx AÝ¨¦QÓx. QøÍ°À ö£Ó¨£k® öμõUP® 

AøÚzx uø»ø© A¾Á»PzvÀ ö\¾zu¨£kQÓx. ö\ßøÚ 

A¾Á»P® AøÚzx ö\»ÄPøÍ ö\¾zvÓx. R÷Ç²ÒÍ 

ÂÁμ[PøÍ öPõsk uø»ø© A¾Á»zvÀ QøÍ PnUøP 

u¯õ›UPÄ®. 

 Rs. 

\μUQ¸¨¦ 1.1.2017 (Chõ¨¦ Âø»°À) 12,500 

\μUQ¸¨¦ 31.12.2017 (Chõ¨¦ Âø»°À) 15,000 

PhÚõÎPÒ 1.1.2017 12,000 

PhÚõÎPÒ  31.12.2017 32,500 

Chõ¨¦ Âø»°À ö\ßøÚ°¸¢x AÝ¨£mh 60,900 

ö\ßøÚUS ö\¾zv¯x :  

öμõUP ÂØ£øÚ 16,000 
PhÚõÎh® C¸¢x Á¢u öμõUP® 29,500 
uø»ø© A¾Á»PzvØS v¸¨¤ AÝ¨£mh \μUS 2,400 
ö\ßøÚ°¼¸¢x ö£Ó¨£mh Põ÷\õø»PÒ  
T¼ ©ØÖ® \®£Í® 11,000 
ÁõhøP 510 
Cuμ ö\»ÄPÒ 3,000 

21. From the following data prepare departments trading and P & L 
a/c and thereafter the combined income account revealing the 
concern’s true results for the year ended 31-12-2016. 

 Dept A Dept B 

 Rs. Rs. 

Stock (Jan 1) 40,000 – 

Purchases from outside 2,00,000 20,000 

Wages 10,000 1,000 

Transfer of goods from dept A – 50,000 

Stock (Dec 31st at cost to the dept) 30,000 10,000 

Sales to outsides 2,00,000 71,000 

 B’s entire stock represents goods from Dept A which transfers 
them at 25% above cost. Administrative expenses came to 
Rs.15,000 to be allocated to A and B in the ratio 4:1 respectively. 
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 ¤ßÁ¸® uPÁ¼¸¢x xøÓ ©ØÖ® J¸[Qøn¢u Á¸©õÚU 

PnUøP 31-.12.2016 °À u¯õ›UPÄ®. 

 xøÓ A xøÓ B 

 ¹. ¹. 

\μUQ¸¨¦ (áÚÁ› 1) 40,000 – 

öÁÎ öPõÒ•uÀ 2,00,000 20,000 

T¼ 10,000 1,000 

xøÓ A °¼¸¢x \μUS ©õØÓ® – 50,000 

\μUQ¸¨¦ (i\®£º 31) 30,000 10,000 

öÁÎ ÂØ£øÚ 2,00,000 71,000 

 xøÓ B°À EÒÍ AøÚzx \μUQ¸¨¦® xøÓ A°¼¸¢x 

ö£Ó¨£mhuõS®. Ax AhUP ö\»Ähß 25% Tku»õP 

©v¨¤h¨£mhx. {ºÁõP ö\»Ä 15,000zøu A ©ØÖ® B 

xøÓPÐUQøh÷¯ 4:1 GßÓ ÂQuzvÀ £Qº¢uÎUP ÷Ásk®.   

22. X Ltd purchased a piece of machinery on 1st January 2016 on the 
purchase system. The cash price of the machinery was Rs.29,800 
terms of payment were Rs.8,000 half yearly over two years, the 
first payment to be made on 30th June 2016. Rate of interest was 
6% p.a. X Ltd wrote off 10% depreciation under W.D.V method 
and closed its books on 30th June every year. It could not pay the 
instalment due on 30th June 2016 and as consequences, the hire 
vendor took possession of the machinery. Give the machinery 
account and show the loss suffered by X Ltd. 

 X ¼m 1.1.16 AßÖ C¯¢vμ® JßøÓ ÁõhøPU öPõÒ•uÀ •øÓ°À 

öPõÒ•uÀ ö\´uõº. C¯¢vμzvß öμõUP Âø» ¹.29,800 BS®. 

JÆöÁõ¸ 1/2 BsiØS ¹.8,000 Ãu® Cμsk BskPÐUSÒ 

öuõøPø¯ ö\¾zu ÷Ásk®. •uÀ uÁøn 30.6.16 AßÖ 

ö\¾zu¨£h ÷Ásk®. Ámi Ãu® BsiØS 6% BS®. X ¼m 

SøÓ¢x ö\À C¸¨£ •øÓ°À 10% Ãu® ÷u´©õÚ® ÂvUQÓx. Ax 

Auß HkPøÍ JÆöÁõ¸ Bsk® áüß ©õu® 30–® ÷uv¯ßÖ 

•iUQßÓx. BÚõÀ AuÚõÀ 30.6.2016 AßÖ ö\¾zu¨£h 

÷Ási¯ uÁønz öuõøPø¯ ö\¾zu •i¯ÂÀø». Auß ÂøÍÄ 

ÂØ£øÚ¯õÍº C¯¢vμzvøÚ v¸®£ GkzxU öPõshõº. C¯¢vμ 

PnUøP²® X ¼m Aøh¢u |mhzøu²® Põs¤UPÄ®. 
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23. A and B were partners sharing profits and losses in the ratio of 

3:2 on 1.7.2015. Their balance sheet was as under: 

Liabilities  Rs. Assets Rs. 

Sundry creditors 2,00,000 Stock 1,20,000 

Capital Debtors 1,50,000 

A 50,000 Furniture 6,000 

B 30,000 80,000 Cash 4,000 

 2,80,000  2,80,000 

 The firm was dissolved on the above date. The assets realised 

only Rs.1,60,000. Expenses came to Rs.5,000. A’s private estate 

could pay only Rs.10,000. B had no surplus. Close the books of 

the firm by showing the relevant ledger accounts. 

 A ©ØÖ® B ²® •øÓ÷¯ 3:2  GßÓ ÃuzvÀ C»õ£zøu £[Qk® 

£õPìuºPÒ BÁº. 1.7.2015 AßÖ AÁºPÍx C¸¨¦ {ø»U SÔ¨¦ 

¤ßÁ¸©õÖ Aø©¢xÒÍx. 

ö£õÖ¨¦PÒ ¹. ¹. ö\õzxUPÒ ¹. 

£Ø£» PhÚõÍºPÒ 2,00,000 \μUQ¸¨¦ 1,20,000 

•uÀ PnUSPÒ PhÚõÎPÒ 1,50,000 

A 50,000 AøÓP»ß 6,000 

B 30,000 80,000 öμõUP® 4,000 

 2,80,000  2,80,000 

 ÷©ØPsh ÷uv°À {ÖÁÚ® Pø»UP¨£mhx. ö\õzx ¹.1,60,000 US 

ÂØÖ öμõUP©õUP¨£mhx. ö\»ÄPÒ ¹.5,000 BQ¯x. A ß 

uÛ¨£mh Buõμ® ¹.10,000 ©mk÷© AÎUP •i²® B °h® 

ªøP¯õP GxÄ® CÀø». E›¯ ÷£÷μmkU PnUSPøÍ u¢x 

{ÖÁÚzvß PnUSPøÍ u¯õ›UPÄ®. 



 60522/BYA2C/CYA2A 
 

9

24. The following is the balance sheet of Rajan and Mohan as on 

30.6.2016 on which date Rajan retires and his son Prem joins for 

a fourth Share of profits. 

 Rs.  Rs. 

Creditors 10,000 Goodwill 12,000

Capital : Plant 40,000

Rajan 50,000 Investments 14,000

Mohan 31,000 Debtors 15,000

 Cash 10,000

 91,000  91,000

 The following adjustments are to be made. 

 (a) Goodwill is to be written upto Rs.30,000 and plant to 

Rs.50,000 

 (b) Sufficient cash to be introduced to leave cash Rs.11,000 

and payment to Rajan 

 (c) Mohan and Prem decided to introduce cash to make their 

capital as per ratio. 

  Prepare capital account of partners and new balance sheet.  

 RÌUPõs£øÁ v¸. μõáß ©ØÖ® v¸. ÷©õPÛ&ß C¸¨¦{ø»U 

SÔ¨¦, 30.6.2016 AßÖ v¸. μõáß K´Ä ö£Ó AÁ¸øh¯ ©Pß 

¤÷μ® »õ£zvÀ |õßPõÁx £[QØS CønQÓõº.  

 ¹.  ¹. 

PhÜ¢÷uõºPÒ 10,000 |ß©v¨¦ 12,000

‰»uÚ® : C¯¢vμ® 40,000

μõáß 50,000 •u½kPÒ 14,000

÷©õPß 31,000 PhÚõÎPÒ 15,000

 öμõUP® 10,000

 91,000  91,000
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 ¤ßÁ¸® \›PmhÀPÒ ö\´¯¨£h ÷Ásk®.  

 (A) |ß©v¨¦® ©ØÖ® C¯¢vμ® u»õ ¹.30,000 ©ØÖ® ¹.50,000 

BP GÊu¨£mhx 

 (B) ¹.11,000 £nzøu Âmk Âmk, μõáÝUS £n® 

ö\¾zxÁuØS ÷£õx©õÚ £n® ÷uøÁ¨£k® 

 (C) ÷©õPß ©ØÖ® ¤÷μ® ‰»uÚ® E¸ÁõUP ÂQuõ\õμ¨£i £n® 

ö\¾zxQÓõºPÒ. 

TmhõÎPÎß ‰»uÚ PnUøP²® ¦v¯ C¸¨¦{ø»U 

SÔ¨ø£²® u¯õ›UPÄ®.  

—————— 


